Ch8

May 15,2013

Chapter 8 Questions

1) A 2L carton of milk costs $3.26. What is the unit rate?

a) $0.83/500mL c) $0.61/L $3_-7'_‘§_*-1 N
b) $3.26/2L @)s$1.63/L al e
2) It costs $4.37 for a 454g block of butter. What is the price per 100g?
a) $0.01/100g c) $1.04/100g $"_‘-_3_7 e _.150-00% <o 150 a6
b) $0.96/100g d) $1.10/100g ~ “S4g*t {9 xwe |50,

3) The graph shows how a cyclist travels over time. Over which interval is the
cyclist travelling the slowest?
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4) The graph in #3 shows how a cyclist travels over time. Over which interval is
the cyclist travelling at 4.5 km/h? BC—> ol Sk i 20 win

a) AB c) CD (Skwmx3 4.5y
@BC d) EF AO win %3 QO min o
5) Which situations could be described, in order, using the rates
$15.56/lb, 80km/h, and $1.58/L?
a) Price of nails, average human running speed, price of sunflower oil.
b) Price of coffee, cruising speed of an airplane, price of milk.

Price of lobster, highway speed limit, price of apple juice.
d) Price of crude oil, average speed of a truck, price of cola.
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6) Suppose that tap water, flowing out of a tap at a constant rate, is used to fill a
container. Choose the container that represents the graph below.

T :
5 a) b) . o
g1 ; :
$10 = 1
k.E 8 flask beaker
£ 511 ‘
o 2+~
° 0 raduated drinking
50 100 SC).'linder glass
Time (s)
7) Which of the following is NOT equivalent to 0.85?
a) 85% (c)o.85%
b) 32 d) 7
100 20

8) Stop signs have a standard width of 60 cm. If the width of the diagramis 5 cm,
determine which scale factor was used to draw it.

2) 12 s Scole fadov
b) 12% S0 X0 [5G
) 8.3 6o > ORI *=R3%

STOP| @ ...

(vvow fvoct \ov\)

9) Which of the following cylinders is similar to a cylinder thatB
2.5cm in diameter? Choose the best answer. Lon

a) Acylinder 4 cm long and 1.5 cm in diameter o\mme&ey 'DVS
b) Acylinder 12 cm long and 3.5 cm in diameter @L@

@A cylinder 16 cm long and 5 cm in diameter m)w z -
) All of the above dende 5

10) Which scale factor(s) will produce an image that is SMALLER than the original?
eyc_ev& \ess thas, 4 pfope/

@37ty \00% @ 17 e ) 9.6

a) lonly

Iand Il only
c) lland lll only

d) 1,11, and Ill

r;l long and

Vi
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11) A 1:35 scale model of a fishing hut is 17 cm tall, 18 cm wide, and 19.7 cm long.
What are the dimensions, in metres, of the actualice fishing hut? (1 m = 100 cm)

a) 0.48m by 0.51 mby 0.56 m Ackool & 35 tives btygur

C%4.86 mby514mby5.63m  Mygel 3  Actuol

595mby6.3mby6.9m —2 55 toll
3) 595mby 630mby6oom | cwtel o
S99 tall

12) Atriangle has an area of 6cm”and is going to be enlarg scale factor of 3.
What is the area of the enlarged triangle?

a) 2cm- c) 18cm” Avea dt W‘?"“‘l X (SF) = Avea o new
b) 3 cmt @ 54 cm® 6 (:9 AYEQOQ WAV

S X Q A'QS\OQ W
SHame  ° Ao of new

13) Determine the scale factor that was used to go from circle A to circle B.

Aveo, gt ‘f‘?‘b"’ Jret Smolles |
O, R
% N

Area=4cm \% s e) 8

f) 16

Avec: o‘% ovig x (5F)™ = Avea & new

- G x (3¢)*= G‘(
Area =64 cm
E(SF AT
SE o Yy

14) Mr. Martens' computer screen has dimensions of 9 in by 12 in. The area of
his projection screen is 4563 in What scale factor is used to project his
computer screen onto his projection screen? —

r\ 9&\;\,\9 SMQ\\”[ (I BV X(%‘:)l ,
N > '(563 w*
/erf 0.024 d) 5.07 q‘“ ’
0.154 6.5
0% (S6)? -
c) 3.8025 @42.25 x (56)7 - 4563

\0
SF) X2 J43.35
3 =65

15) Mr. Martens' classroomis 75 m-.
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What scale factor would he have to use |n order to draw a scale diagram that

has an area of 300 cm®? (Important: 1 m>= 10 000 cma)

Qloss
@o.oz ) 0.5

b) 0.04 ,e‘)’z 7SV\I\a ov x (Sg\l Dicovam
c) 0.25 A4 250 000 e — 300coa

750@&3 « (§9)% = 300

750 ooo
3(3?)2(

002

1
16) Jason reduces this triangle by a scale factorof 3 .
Determine the area of the reduced figure, to the nearest tenth of a square unit.

/&\ a) 3 d) 24

/ 6 e) 48
/// G)c)) 12
Y4 6\ S 2
Lin X( ?)
-/ Rreo= Y — f 2
v
Fcm ( Areo. of oo (SF)% Avea of
] \9 X oY vew
hoea Pt W x (L) Ao drew
Aveor= B x6 A x 035 = Mok new
Ao = 9}3 S S e

17) A stage director needs a large pawn for a scene. The pawn in her chess set is 3.5 cm
tall and she estimates that the height of the enlarged pawn must be 70 cm.
How many times greater will the surface area of the larger pawn be?

a) 20 (d)400 gT s 2:30 Ot

b) 40 e) 8000 o ———> r!j o

c) 60
Suoce A = (S5)2 dimes o5 wuch
Suface A= (3012 dwes o5 mock
S foce Aoz GO0 bimes o5 wach

18) A stage director needs a large pawn for a scene. The pawn in her chess set is 3.5 cm
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tall and she estimates that the height of the enlarged pawn must be 70 cm.
How many times greater will the volume of the larger pawn be?

a) 20 d) 400 Fom pf&vm%\ues\sbv\ St =0

b)ao  (e))8o00 ol (SF)" Himes @ mockn

\[°\UW"¢ = F000 twes g wudh
19) Alacrosse ball has a diameter of 6.4 cm.
A basketball has a diameter of about 23 cm.

The volume of a lacrosse ball is what percent of the volume of a basketball?

%},2.2% c) 12.5% R
7.7% d) 28% ¥=53 °

BO&S\Q*bm\\ Lacvm..
\olowe & locvese = (56)% of , Dasketloal

Volwweck laerose = (027726 ) &t bosketbal

Noluwe of locrose = O.021545. . of bogkedoall
% 00%

\obwe, o lacvose = 2 2% of bouske ol

20) The model of a swimming pool was used to build an actual swimming pool. If
the model holds a volume of 24 L of water and the actual swimming pool holds
a volume of 24 000 L of water, what scale factor was used to build the actual

swimming pool? _Modek Aol pool
0001 (d)10 Lol N
;%g/bfyo.osz ?)31.6 ! QoL
0.1 f) 1000 |
W Voo wedel (5% = Vgut & oo

< (S7)° = U000

d
36(3,;)3/ :amo
o5 = 10

21) The surface area of an oil tank is 150 ma. A similar oil tank has dimensions that
are larger by a scale factor of 4. What is the surface area of the larger tank?

/!f 16 m 2400 m> /’\
28

/7 64 m e) 9600 m -

/kifm,, _a @ SE=4
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/4{ 16 ma 2400 m>
o bf 64 m> &) 9600 m™
%ﬂ c) 600 m>

lea

SA of small x(g‘;\ SA ot \ax
SO % (W) = SAR fauy

'S0 x & = SA \(L\I%e/

LU0 ML T SALL lavger

Written Answer Section. Show all of your work neatly for full marks.

22) Derek can buy whole chickens at Save On Foods for $3.61/kg or he can buy
10 Ib for $17.40 at Buy Low Foods. Mathematically compare the two rates
and determine the lower rate. (marks not given for answer only)

SO&QO’\
§36 . $36 2 _[BL G‘@ ‘S\? 40+ [§ig
\kg x?vi A-Abs 2. l \ lb 0 b - l b
\ \\3‘—'11\\)?

|0wey voke

23) Fuel economy in Canada is stated a m

Marie drove her Honda Civic from Vanc¢ouverto Calgary using a total of 80L
of gas. Then, she drove from Calgary t0 Edmonten using a total of 26L of gas.
The distance from Vancouver to Calgary is 970 km. The distance from
Calgary to Edmonton is 300 km.
Mathematically, compare the fuel ecdnomy for each trip an
had the better fuel economy.

Vo — (al Col = G
ROL *aw  0.03 7L | AL 6L xw0e  OORCL™
q;g\:w\l-‘\"o ) m\-x\w \OTKW\ 306 kwn® 300 \ kW\ xloy
/‘\
lelter Cue/\
CCOV\O\M\’ . .

24) If Jason jogs at a constant speed, he can jog 1400 metres in 8 min.
If he continues at this speed, how many kilometres can he run i hr 10 min
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(round your answer to two decimal places)

100 wekres T \75w\"7° QRSO H1000 B Qﬁkw\
D = ) \Mw\ x70 76\/\,\1\,\ T —70w\

| kw = 1000w
25) Diagrams X and Y are similar.
Y
X _>(7_9
Y 2.0cm>
d 6_7’—/ 7.0cm
X =

a) Determine the scale factor used to tran ?orm diagram X into diagram Y.
Express your scale factor as a fraction and as a percent to one decimal place.

b) Calculate the length of side d to one decimal place.

©) % becous t's gekty swallew |

@ C(O\N\ \\"‘9><73Q0L\e£o.c&c« 3 ‘Z‘\Ov 3.5

O\T /33 ‘

26) A cook has a set of three mixing bowls with lids.
The bowls stack inside each other and are similar to each other.
The diameters of the two largest bowls are 32 cm and 28 cm.
The scale factor is the same from each bowl to the next smaller bowl.
Calculate the diameter of the smallest bowl.

6-39\ W =

XOS75,
\QY?,\, —_— Wem

. 073
we dipma Xe \

SFE Qom lavgt ko wedivm = :2;% o 0879

<0O... diovete of Swall = B f??—?S
= Q"( Saowm

27) Jeremy enlarges this figure by a scale factor of 150%.
Determine the area of the enlarged figure, to one decimal place.

SF = \S0% sowe as \.§
( l.f} 1square=1cm A
ARvea C’Q chﬂ\l\n‘ x (ﬂC\D\ = A\ren .-1‘- W0 At
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- - J.v. N~y VN W Vv

Armd 1565 x (15 - Aco.d raw

A3 Yx . N

A- 7. 063 am USGb X Q—Qg AVCQ\ CR ww
A\ bxh T\é A6 O = Area of v
A- 3@& J mv 5
A- L{ Jom?

28) Arectangle with an area of 500 cm:’1 is being reduced by a scale factor of 0.2.

Determine the length of the reduced rectangle if its width is 2 cm.

~ Se=0.2
Y00 | 2 | Q0cma |dem

— SO..

Avea o o1y X (S\:)a g A‘m OQ v lc,wx X\QVJ“/\: D\OQ\N\Q
Soo <07 = AMad waw K

= Ao o vow Lﬂ'j’f"\ ’@

29) The scale factor for two similar triangles is 1:3.
The sum of their areas is 180 cm™.
Determine the area of each triangle.

S -3
e P

Avest ob lovser 13 (33:’l tines move tham owea of Swn\\w\
O w « C‘ “ “ b W ¢
Q)U@% + Q,\I\Qck‘

1§ + 63 = (%0
| 1{\«‘:\&5 lavger thom (S

6.~ Swa\\er me\\:) \Q = (Foma
\cwguv ’c\r%\t* (G amd
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30) The surface area of a gift box is 360 cm.

The volume of the same gift box is 480 cm’.

What are the surface area and volume of the gift box after it is reduced by a
scale factor of 0.5?

SA &ov\)w@\XCSF\a‘ = SAO‘ W
360  x (05)* * SAd vaw

= S/\ ocw,w

\lO\ 0% owf l\'\a X (SF) \IO\ GQ VY
g0 x (© S) = Vol of v

= \Io\ ok nRw

31) A set of three mixing bowls stack inside of each other and are similar.

i

The largest mixing bow! has a volume of 5.0 L and the
middle (medium) mixing bow! has a volume of 2.56 L.
The smallest mixing bowl has a diameter of 20 cm.

a) Determine the scale factor used for making the second
largest mixing bowl from the largest mixing bowl.

o) ey

\oluwe, \owaL X (SQB “vol of oadiom .
SS x (%CB?’ .36

’W”\Tb’?a

N= J@

32) Determine the diameterS%f the middle (medium) mixing bowl.

wediow | x0%

Do o madisen? R0 ox:
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